Rwnpg h°Gs opkGpltp £ Gepwnenid «3Genunwnbunipjwb L nwnhnjh dwuhG»
L3 optilunpnipynilp:

Mwuwufuwl LN3 hGeniunwnbunipjwlb L nwnhnjh dwuhl optlunpnipyniln
GGpwnnid £ «3Grniunwnbunipjwl L nwnhnjh dwuhOy», «2Qwbqywdéwjhb [pwunynipjw
Quuhb», «ElGYunpnGwiht hwnnpnwygnipjwb dwuhb», «3GnhGwlwihG hpwydnibph L
hwpwyhg hpwynitbpbtiph dwuhb», «LGquh dwuhO», «@ndwagnh dwuhly» LGrGw)jhG
Qwpwpwnh Iwbpwwbtwnnipjwb onptbpbtnn:

Stintywwnynipjwl pwqwywnp yupqwdnpynid £ Gwb wy; ppwdwywb wynbpnyg
L LGnOwjhb Qwpwpwnh 3wbGpwwbunipjwlb dhpwagqihl wywjdwbwaptpny:



